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Chapter 2 Test Review
Algebra 2 with Trigonometry
Simplify the expression.

	1. 
[image: image35.png]A shipping box is shaped like a rectangular prism. It has a total
volume of 96 cubic inches. The height is two inches less than the
width and the length is eight inches longer than the width. What
are the dimensions of the box?
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Write the polynomial function in standard form.  State its degree, type, and leading coefficient.
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Standard form:____________________________       Degree: ________________

Type: ________________                                               Leading Coefficient: ___________
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Standard form:____________________________       Degree: ________________

Type: ________________                                               Leading Coefficient: ___________




	7. Use direct substitution to evaluate 
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when 
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Show your work.

___________


	8. Use direct substitution to evaluate 
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when 
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Show your work.

___________



	9. Use synthetic substitution to evaluate 
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Show your work.

___________


	10. Use synthetic substitution to evaluate 
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Show your work. 

___________




Graph the given function.  Describe the end behavior of the graph.  

Calculate any zeros, local minimums, local maximums, and a table of values. 
	11. 
[image: image15.wmf]22

1

()(4)(1)

5

fxxx

=-+


[image: image33.png]




[image: image16.wmf]()________ as x

()________ as x

fx

fx

®®-¥

®®¥




	12. 
[image: image17.wmf]22

()(2)(1)

fxxx

=-+-


[image: image34.png]PETROLEUM Since 1980, the number W (in thousands) of
United States wells producing crude oil and the average daily
oil output per well O (in barrels) can be modeled by

W= -0.575 + 10.9¢ + 548 and O = —0.249¢+ 15.4

where t is the number of years since 1980. Write a model for the
average total amount T of crude oil produced per day. What was
the average total amount of crude oil produced per day in 20002
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Perform the indicated operation.
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Perform the indicated operation.
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Factor the polynomial completely.
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Write a polynomial function f of least degree that has rational coefficients, 
a leading coefficient of 1, and the following zeros:
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Divide.  (using either polynomial long division or synthetic division)
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Factor the polynomial f(x) completely considering the given factor.
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Word Problem Review
	27.  
_________________



	28. 
_________________





Name___________________________ Period________
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